Puzzle 7273 - Thursday, 30 May, 2013 - Difficulty 3

7 23 |1 3 | 7o
519 /6|82 |1]34]|7:
1’1’""1111::‘ ;97::1 1’5’::’:::::” ,iiiiii"’{‘ii:‘
21|37 )6 ]4[9|5]8
12 T ‘ o | _
8|4 |7[9[3]5[1]2]6
15 1  y1e 9 | 5 1 15
718191453261
’7’,:::::::, i}’ii”ffffff,,ﬁiﬁiii ’7’,1111,,’,’,’,’,’,’,: %
1|16 (52 |7 84|39
’7’,:::::::,: ‘ ‘7’,1111111111:‘ :1’7’,’: ,,,,,,,,,,,,,, ] ’é’": :
4| 31216|1[9|[87|5
:1’6””’::::::, i’7’i”‘ ‘éffijjjffffff,: :l’e’jj’: " ,,,,,,,,,,,, i ’51’::;
9 | 783|465 |12
o ] | O 2= |
65 (41118 |217]|9 3
:éffiiijffffff,,:iiii ié’j:fffff; "’1’2’11’ —
3121|559 768 4

Copyright (c) www.dailykillersudoku.com




